Proof by Contradiction Part a: The General Method

lan Ludden

lan Ludden Proof by Contradiction Part a

By the end of this lesson, you will be able to:

・ 一下・ ・ コート

By the end of this lesson, you will be able to:

• Outline a proof by contradiction.

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

- 47 ►

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)
Indirect: prove p by showing $p \rightarrow F$

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)

Definition

A **proof by contradiction** proves a proposition p by showing $\neg p \rightarrow F$, where F is a logical contradiction (any statement we know to be false).

The more obviously false *F* is, the better. Examples:

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)

Definition

A **proof by contradiction** proves a proposition p by showing $\neg p \rightarrow F$, where F is a logical contradiction (any statement we know to be false).

The more obviously false *F* is, the better. Examples:

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)

Definition

A **proof by contradiction** proves a proposition p by showing $\neg p \rightarrow F$, where F is a logical contradiction (any statement we know to be false).

The more obviously false *F* is, the better. Examples:

• The sum of the vertex degrees in the graph is odd.

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)

Definition

A **proof by contradiction** proves a proposition p by showing $\neg p \rightarrow F$, where F is a logical contradiction (any statement we know to be false).

The more obviously false *F* is, the better. Examples:

- The sum of the vertex degrees in the graph is odd.
- 0 = 1 7<3 17 is a purf. square

・ロト ・ 同ト ・ ヨト ・ ヨト ・ ヨ

You want to prove proposition *p*, but first attempt at a direct proof isn't working. Backup plan?

1
$$p \equiv T \rightarrow p$$

2 $T \rightarrow p \equiv \neg p \rightarrow F$ (contrapositive)

Definition

A **proof by contradiction** proves a proposition p by showing $\neg p \rightarrow F$, where F is a logical contradiction (any statement we know to be false).

The more obviously false *F* is, the better. Examples:

- The sum of the vertex degrees in the graph is odd.
- 0 = 1
- Purdue's marching band is better than the Marching Illini.

伺下 イヨト イヨト

Key steps in a proof by contradiction:

Ξ

<ロト < 回 > < 回 > < 回 > .

Key steps in a proof by contradiction:

We use proof by contradiction." (Alt.: "The proof is by contradiction.")

Key steps in a proof by contradiction:

- We use proof by contradiction." (Alt.: "The proof is by contradiction.")
- **2** "Suppose [negation of *p*]."

Key steps in a proof by contradiction:

- We use proof by contradiction." (Alt.: "The proof is by contradiction.")
- 2 "Suppose [negation of p]."
- **3** Take logical steps that end at a logical contradiction.

Key steps in a proof by contradiction:

- We use proof by contradiction." (Alt.: "The proof is by contradiction.")
- 2 "Suppose [negation of p]."
- **3** Take logical steps that end at a logical contradiction.
- "This is a contradiction. Therefore, [p]."

A Worked Example

Prove $\sqrt{3}$ is irrational.

Proof.

The proof is by contradiction. Suppose $\sqrt{3}$ is rational. Then $13 = \frac{m}{n}$, where $m, \eta \in \mathbb{Z}$ and $n \neq 0$. Suppose $\frac{m}{n}$ is in lower terms (gcd(m,n)=1). It by n 13 = m mut by n J square bith sider n3=m $3n^2 = m^2$ $3 = \frac{m^2}{2}$ Jo 3(22) So gcd(m,n); 2321, $5_0 \ 3 | (m^2)_s \text{ and } (3 | m) \text{ That is,} \qquad 5_0 \ gcd(m,n) \ge 3^{-1},$ This is a contradiction. Therefore, $\sqrt{3}$ is infational. 13 is invariant.

<ロト < 回 ト < 回 ト < 回 ト -

By the end of this lesson, you will be able to:

• Outline a proof by contradiction.

< ∃ ►